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expect (depending on university policy) either zero salary increases,
an inflation adjustment, or some modest fixed percentage increase
each year. Option 2: forswear tenure and accept a rolling, fixed-term
contract (RFC) for perhaps 8, 10, or 12 years.

Other details could include the following: (1) the same choice
would be offered to a faculty member when newly offered tenure;
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tenure, but ofcourse the person would notbe guaranteed acceptance
or that his or her salary would not be reduced at that time.

It is the nature of the human animal that all faculty members will
believe that they are valuable enough to be in the class of RFCers.
But some (the author, for one) would opt for tenure out of fear of a
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mechanism to achieve improved market matches in an academic
setting are as follows. First, in settings where facultymembers teach
two different courses, the department can allocate courses to be
taught by faculty members by ranking the courses by expected enroll-
ment, and then allow professors to choose a second course in
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